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INTERMEDIATE EXAMINATION - 2019 (ANNUAL)
PHYSICS (MODEL SET)
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Instructions for the candidates :-

y 8

Candidates are required to give answers in their own words as

far as practicable.
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Figures in the right hand margin indicate full marks.
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While answering the questions, candidates should adhere to the
word limit as far as practicable.
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15 Minutes of extra time has been allotted to read the questions

carefully.
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This question papér is divided into two sections: Section-A and
Section-B
IE Y UF & TSI H B WUe—3 Ud WUs—d

In Section A there are 35 objective type questions which are



compulsory, each carrying 1 mark. Darken the circle with blue/black
ball pen against the correct option on OMR Sheet provided to you.
Do not use Whitener/Liquid/Blade/Nail on OMR Sheet otherwise
the result will be treated as invalid.
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7.  In section-B, there are 18 short answer type questions each carrying
2 marks, out of which only 10 (ten) questions are to be answered.
Apart from this there are 06 Long Answer Type questions,each carying 5
marks, out of which 3 questions are to be answered.
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8.  Use of any electronic device is prohibited.
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SECTION-A (Objective Type Questions)

Wre—3 (T~ ¥eA)

In the following questions from no. 1 to 35, there is only one correct

answer against each question. For each question, mark (darken) the cor-

rect answer on the OMR Sheet provided to you.

fFreforRaa ue Am 1 9 35 T @ Us U D ford Uh B ey wal |
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1.

r ¥ faert & sl & 9@ T arer 9o SEEaT g @

Ard B.rra Cra& D.r'&

The force acting between two electrons Separated by distance r is
proportional to

Ar 8.1 o I 0.

faega werepwr @1 fadiia = &ar @

A. [ML2T3I"] B. [ML3T=I"] C. [ML2T*3I] D. [ML3T]]
The dimensional formula for electric flux is

A. [ML?T3I1] B. [ML3T=I"] C. [ML2T*3I"] D. [ML3T=1]
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The torque experienced by an electric dipole of electric dipole moment
- —>
P in a uniform electric field E is

- o —> = — = = =
A.PXE B.P.E C.P+E D.P-E
U AL BT GHRATNR TR TR X Wex of W 7 fhar T B gl 8

A. X] B.

® |=

] C. @ D. x2J

The work done in moving a unit positive charge through a distance
x on an equipotential Surface is

A. X ] B. 1] C. zero D. x2J

TR WRagel Mg dred @ 3iex fagga dean gl 8
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The electric field intensity inside a charged hollow spherical
conductor is

o €0

A. B.eoo C. ™ 5SS

€0
Ue dToTd, foraa TiRar 20 mF 2, &1 1000V e 3Maf¥e faar e |
arerd @1 Rerfost ol g

A.20x 10*J B. 10*J C.20x10°d D.10°J
A conductor of capacity 20 mF is charged to 1000 V. The potential

energy of the conductor will be

A.20x10*J B. 10*J C.20x 10%J D. 103 J



10.
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A. dicedier | B. fovaard &

C.U#eR 9| D.dree™ex ¥

The emf of a cell is measured by

A. Voltmeter B. Potentiometer

C. Ammeter D. Voltameter

fopdis &1 a1 e g ufdr & aveor Rigia 9 wefed 8 2

A. T B. Sl C. afraer D. @1oft HaT
Kirchoff's current rule is related to principle of conservation of
A. monentum B. energy

C. Charge D. angular momentum
golaei dlee (eV) # AT ST 8

A. favareaR B. 3o C. Sal D. &=
Electronvolt (eV) is a measure of

A. potential difference B. Charge

C. Energy D. Current

S9ar & (B) W Rerd (M) gaabra ameef arel SRR g7 ST ael
amepet (T) 1 71 B @

—
D=

=)

—>
AT=MxB BT=BXxM C.T= E



1.

12

13.

The torque experienced by current carrying loop of magnetic moment
—5 -
M placed in a magnetic field B is
—>
S - = M —»
AT=MXB BT=BXM cCT=% D.T=%

T eraariex &1 iRy G 8 | g 9”1 &7 1 yfaerd €1 deranner |

yaifed & g9s forv vie &1 #19 81 dA1fey
G G G 99G

Resistance of a galvanometer is G. Shunt used to allow 1 % of main
current through the galvanometer is

A S B i . 26

fehel gITeh R BUSeN # e yaTfRd @Y Sl & | A Busell # fArear 3w
faar o, & SUD B W FHEDI &F BT Al BT A B ST

A. TR B. 3men C. g D. =
Current is flowing in a circular coil. If the radius of the coil is
doubled, then the value of magnetic field intensity at its centre will

be.

A. same B. half C. double D. four times

Sl © BRI BT gl menRa @
A gRT & HHY J91d ) B. faga—gaara URoT R
C. URd Fadha W D. aRa faga w

The working of a dynamo is based on



14.

15.

16.

A

A. heating effect of current B. electro-magnetic induction

C. induced magnetism D. induced electricity

UG BT AP &

A. &R B. 3 () C. 2 D. ¥

Unit of self inductance is

A. Weber (Wb) B. ohm (Q) C. henry D. Gauss
et Searl SiaBR @ UrgEd 3R Aded # wmaer N, 3R N, oue €| 9
A.N >N, B. N>N, C.N, =N, D.N, =0

If N, and N, are number of turns in primary and secondary coil of a

trasformer, then

A N>N, B.N,>N, C.N,=N, D.N,=0
L - R ufRuer &1 wifday T[oriss i € |
R S ——————
—— L
A R+ ol B. Re+qaz © RVR? + @22 D. 0?{_

Power factor of L - R circuit is

A R+ ol BB —f— C.RVRZ+ 022 D. 0L

VR? + 212 R
foreft B2 dud & #eu fag | F9F g8 W el qer fArefa Rerfa o
aﬁaﬁumgzﬁnﬁwmmm
A2 B.1:2 c. V2 1 D2

The ratio of value of magnetic field at same distance from mid-



point of a small magnet at its axial and equatorial position is

18.

19.

20.

21.

A.2:1 B .k . .-C N2 Da:2
9edl & AP YT W THT—HI0T BT A BT 2
A. O° B. 90° C. 45° D. 180°

The angle of dip at magnetic pole of earth is

A. O° B. 90° C. 45° D. 180°
— : = :

A. E & 99aR B. B & 9HiaR
e = ; - - y

C.B X E & ®Hiax D. E X B @ ®Hiax

The direction of transmission of electromagnetic wave is
— s
A. parallel to E B. parallel to B
= -
C. parallelto B X E D. parallel to E X B
forer BRVT A &A1 BT JAGST U B R AHBAT AR AT & ?
A. 3mTadH B. uRr&ad+
C. ot ariaRe gRad= D. faad
An air bubble inside water shines due to
A. refraction B. reflection

C. total internal reflection D. diffraction

a1 o Rt emwar -15D @ +15D & &1 gaefy wer o was |9

AT BT BIpd 0 BFf)



22.

23.

24,

A.-10 cm B. +10 cm C.-20 cm D. +20 cm
The equivalent focal length of coaxial contact combination of two

lenses of power -15D and +5D will be

A.-10 cm B. +10 cm C.-20 cm D. +20 cm
GiTelld qReele & sifve gfafda g 2

A. IRfa® SR Seer B. ®reufies aiR e

C. FTeafid 3R Ieer D. arcfds sk wen

The final image in astronomical telescope is
A. real and inverted B. Virtual and erect

C. Virtual and inverted D. real and erect

W%wwﬁmwésﬁaﬁwaﬁaﬁ?mﬁzﬁw

fSr1 @t ST 2

A. frpe—gfiear B. drei—gfiear

C. aRemfesH D. S gftear
Cylindrical lenses are used to correct defect of eye called
A. myopia B. hypermetropia

C. astigmatism D. Presbyopia
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25.

26.

27,

28.

In Rayleigh seattering of light, the intensity of scattered light is pro

portional to the wavelength % in the form of

1 1 1
U Udel fhew & 9 s &1 ooy 2
A. fdavor B. fagd= C. ypIuiH

The colour of a thin film is due to

A. interference B. diffraction C. scattering
FRR & 1 2

A.u=Cosip B.p=tanip C.p=Sinip
Brewsters law is

A. p =Cos i B. n=tan i C. u=Sin I
A TETRE dTel BIEH @Y Sl &

A B g C. hca

The energy of a photon of wavelength 1 is

ha
# = o C. hca

ETgSIoH Wasd BT H—1 Jof g7 A/rT § ey & 2

A. IR Srof) B. s®e 2of C. drzaa 2of

D. dispersion

D. u= Cot i

D. n= Cot i

D. gregs gof}

Which of the spectral line of hydrogen spectrum lies in visible

region ?



29.

30.

31.

32.

A. Balmer series B. Brackett series

C. Lyman series D. Paschen series
fr=iferRaa % o9 smderfEa oo & ?
A. a—&HT B. B—aur C. uIeH D. wie|

Which one of the following is a chargless particle ?

A. a - partcle B. B - particle  C. proton D. photon
o= s % faeht Meanfaea et @Y 4= o yRfie aREmT 9 ameh
&l Ol 8, S BEd §

A. 3d 3y B. sf—amry C. 3merg fuais D. amad &ral
The time during which the quantity of any radioactive material becomes
half of its original value, is called

A. Average age B. Half age

C. Decay constant D. Time period

n— TI3Y & faTed ¥ qE6EId gR—ded Bl &

A. a—FT B. gclae C. ure D. fog

The majority charge carrier in n-type semiconductor is

A. o - particle  B. electron C. proton D. hole

ot 7t feeedvor # afe frer smgfy s0 Hz @ ot frfa amafy @r @ 2
A. 50 Hz B. 25 Hz C. 100 Hz D. 200 Hz

In ful wave rectification, if input frequency is 50Hz, then output.



33,

34.

35.

frequency will be

A. 50 Hz B. 25 Hz C. 100 Hz D. 200 Hz
NAND e & fog gferas aores @
A A+B=Y B.A+B=Y C.AB=Y D.AB=Y

The Boolean - expression for NAND gate is

A A+B =Y B.AtB=Y CAB=Y D.AB=Y
<UD G 15 HT fgememdy # w19 g

A. (1100), B. (1001), C. (1111), D. (11001),
Result of conversion of decimal number 15 into binary will be
A. (1100), B. (1001), C. (1111), D. (11001),
TV woR & fog f69 mgfa v &1 sy gar & 2

A. 30 Hz - 300 Hz B. 30 KHz - 300 KHz

C. 30 MHz - 300 MHz D. 30 GHZ - 300 GHz
Which frequency range is used in TV transmission ?

A. 30 Hz - 300 Hz B. 30 KHz - 300 KHz

C. 30 MHz - 300 MHz D. 30 GHZ - 300 GHz



SECTION-B (Non-Objective Type Questions)
Grs—9 (IR—agfrs yem)
Short Answer type questions
TSN e
U™ AT 1 ¥ 18 T W1 THSTNT Bife B U 8 | 39 DI B UdS I
& forq 2 o/ FRuifRa 21 3y f6=i <9 woal & wav ¢ | (10x2=20)
Question nos. from1 to 18 are short answer type questions. Each
question of this category carries 2 marks. Answer any ten (10) questions.
(10x2=20)
1. Rer 9y uRRemr @7 2 ? gwer s ford |
What is electrostatic Shielding? Give its practical application.
2. \HIRA @Y gIRaAT BT GG B aret T FRS BT ford |
Give two factors which affect capacitance of a capacitor.

3. ORI U BT YRAIMNT IR U9 39 qare a1 (J) A Faer By o |

Define current density (q)) and write expression for current density

in terms of drift velocity.

4. TP 12 Q YRR a1l aR BT diaax IS Fds g P & 9l @ R
BT =T gfeRier fAared |
A wire of 12 Q resistance is stretched to double its length. Find out

the new resistance of the wire.



10.

11.

12.

VAR @ gRuefir fgw &t g\ed |

Explain Ampere's circuital law.

o T 8 ? DT SN FHATY |

What is Shunt? Explain its uses.

oSt &1 | oIt w@=eror &1 Rigrd 8 | ey |

Lenz's law is the law of conservation of energy. Explain.

T4 SR 7T ST B gabra O F 37 3R 9 |

State two differences between the magnetic properties of soft iron
and steel.

qICEI YT &7 Nk We TN |

Explain Wattless current.

fagge gaabia o’ @ H= <F favman ford |

State two main characteristics of electromagnetic waves.

<1 el Sl ofw, e ammamd 4D U9 6D 2, Ud qER A 20 W @ g
W TR B9 H W T © | o T B BIed o a7 eHar e |
Two thin convex lenses of power 4D and 6D are placed co-axially
at a distance of 20cm apart. Find the focal length and power of the

combination of lenses.

UehTIT B AfITBOT B TP 91 ford |

Write necessary conditions for interference ?



13.

14.

15.

16.

17.

18.

OR @21 AND e & wegar arofl e gferas eivie ford

Write truth table and boolean algebraic expression of OR gate and
AND gate.

E wfirst oif arel gorget @ d—dfell (de Broglie) =7 wdarg ford |
Write the de Broglie wavelength of an electron of Kinetic energy E.
s rfSfAsor @ 8° wHesy |

What is amplitude modulation ? Explain.

3Tae +q, +q23ﬁ?-q3$w@wwABCWﬁgﬁaﬁ$WEﬁr
H T B ? A 4,

What will be the value of flux of electric ﬂeﬁ:i on a closed surface
ABC placed near charges +q,, +q, and -q, ?
ﬁﬁﬁmﬁmmmmwwmmm?w|

In going from water to glass will speed of light increase or decrease?
Explain.

wwgﬁﬁﬂaﬂgﬁqmaﬁ?mwmeVéﬂﬁ_ﬁ%

ST BT ST & | HUT gAThR T B T € | $H JATBR 9 Bl
e foret B 2 2

A particle of mass m and charge q is projected with velocity ?/)
perpendicular to a uniform magnetic field I—E’? The particle is set iﬁ

circular motion. What will be the radius of this circular path ?
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Long answer type question

&ref S U
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sics PruiRe 2| oy fedl & o @ TR (3x5=15)

Question nos. from 19 to 24 are long answer type questions. Each

question of this category carries 5 marks. Answer any three questions.

19.

20.

2%,

22.

(3x5=19)
T T Py R | ST SFIANT PR el W 3 FETE B T A
mﬁxﬁawzﬁwﬁmﬁﬁ?gwﬁgﬁahﬁﬁwmaJWmﬁaﬁl
State Gauss law. Applying this law obtain electric field due to an

infinitely long thin uniform charged straight wire.

fopelt o & forg = }:(u_q)(;;_% ) i @ |

'y

Establish the formula for a lens 1 (n—1) ( S )

f R~ R,

yepTeT & RT3 ORMTT < | T B Re—ow war # e @ e B
foru aisie AaTe |

Define interference of light. Derive an expression for fringe-width in

young double slits experiment.

FraseTs @ it @1 ford | 371 PRl @1 Swi 3R geved e & Her

P raRRAT YT B |



23.

24,

State Kirchoff's laws. Applying these laws obtain the condition for

balanced wheatstone bridge.

Jr—wgd e fore | s IR RS v aRTET JATHR HSell D
e U fag W e IRor a1 2o ara ¥ |

State Biot-Savart law. Applying this law obtain expression of magnetic
field at a point on the axis of a circular coil carrying electric current.
SR SRITS T ® | dieedT fase ¥ 50T AT @7 qvie a5y

What is Zener diode? Explain its use in a Voltage regulator.



